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F;lll Marks : 40

Time : 2 Hours
The figures in the right-hand margin indicate full marks.

i Candidates are required to give their answers in their

own words as far as practicable.
Illustrate the answers wherever necessary.
Unit—I
( Si lviculture)

[ Marks—20]

Answer all questions.

l. Answer any five questions : 1x5
(a) Define culling.

(b} What is pollarding ?

(Turn Qver)




(c) Give the full form of NTFP,

(d) Mention scientific names of two tree species ideal for

avenue plantation.
() What is stem buttress ?
() What is the clearfelling system ?

(8) Mention a situation where reforestation is to be

practiced.

(h) What is agrosilvopasture system ?

2. Write short notes on any two of the following : 2%><2

(a) Social Forestry.
(b) Artificial Regeneration.
(c) Forest types.
@
3. Define silviculture. Qutline the objectives of sxlv1culture
Briefly discuss the scopes of it. 2+4+4
Or

What is natural regeneraition” Discuss on the factors
influéncing the success of natural regeneration through
seeds. 2+8
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Unit—11
(Forest Mensuratt’on)

[ Marks—20 ]

Answer qif questions,

4. Answer any five of the fqllowing : 1x5

(@)

(,C)
(d)
(e)
(0

(8)
(h)

What height is corisidered Commonly as breagt height
in forestry ?

Name the major parts of Abney’s leve] effective for its
functibning. .

Why and when the clear felling is done ?

What is form height ?

/15/M.Sc. /2% Seme, /BOT-202 (Turn Quer)



5. Write notes on any one of the following : 5x1
(a) Trigonometric method of height measurement.

(b) Rules of diameter measurement.

6. What is forest mensuration ? What is the basis of
determining the time of crop rotation for a species ? Write

a note on the significance and scopes of such mensuration.
2+2+6

Or

Illustrate the different methods to measure the height of
trees with the aid of instruments and in absence of that.
What step is to be taken to measure the girth of a tree
standing on a slope ? How would you consider the volume

of a tree forked from its base ? Justify your statement.
7+1+2
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